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BHEBETTILGIREL) 8%

C57BL/6NCrSlc

BALB/cCrSlc
1.f!!1|t Slc:ICR
C57BL/6NCrSlc
Weeks after operation
3 1 6
I tem Unit {n=5) (n=5) {n=5) (n=5)
Absolute organ weight
KERER il 0,033 £ 0.003 |0.037 =£ 0.003 |0.041 == 0.003 (0047 =£ 0.005
FEEFL 4 0032 = 0003 |0.038 == 0003 [0.040 = 0.003 |0.048 = 0. 004
2R £ 0032 = 0004 |0.033 £ 0002 |0.037 £ 0.004 |0.038 = 0. 004
= AL S 0029 =+ 0.003 |0.034 =+ 0004 (0035 = 0,001 |0.039 =+ 0. 002
Body weight £ 2004 =+ 0.98 236 =+ 1.28 2609 =+ 2. 44 30.4 + 2 58
|Relative organ weight
FEERR % 0,162 = 0.009 |0.157 = 0.014 |0.159 = 0.022 [0.154 = 0.014
TEERL % 0158 = 0011 (0161 == 0014 (0157 == 0.021 |[0.159 = 0 M2
2 &R 2% D156 == 0014 0138 =£= 0015 (0,142 = 0.019 |0.126 = 0. 008
&L £ 0,141 = 0,011 |0, 143 £ 0,017 |0.135 = 0.013 (0,128 =+ 0, 006
Absolute organ weight
KEEER £ 0,029 = 0.003 |0.035 = 0.004 |0.043 = 0.002 [0.043 = 0.004
EHRERL ] 0,031 = 0003 |0.036 =+ 0.001 |0.042 = 0.002 |0.044 £ 0. 004
E &R E 0,026 == 0002 |0.032 == 0007 (0036 == 0.002 |0.036 = 0 002
RE &L £ 0,027 = 0002 |0.031 =4 0007 (0035 £ 0.003 |0.037 = 0 004
E Body weight g 18.2 +1.09 | 206 +08 | 240 0.8 | 23.5 =+ 1.83
Relative organ weight
FEERR % 0,162 = 0.010 |O.170 = 0.014 |0.178 = 0.009 [(0.183 = 0.008
B L % 0170 = 0.019 |0.17% =+ 0. 008 |0.176 = 0.006 (0.189 =£ 0.010
&R g% 0,144 =+ 0005 0. 1565 == 0007 (0. 148 = 0.008 |0.154 = 0 004
AL 2% 0,149 =+ 0006 10.153 =+ 0.003 (0. 148 = 0.011 |0.1566 = 0. 013
Values are meanXx5. D.
BALB/cCrSlc
Weeks after operation
4 2] 12 16
| tem Unit (n=5) {n=5) {n=5} {n=5)
Absolute organ weight
XERER B 0,033 0004 |0.043 =+ 0003 (0.044 = 0.005 |0.044 = 0. 002
HHEREL £ 0.034 £ 0005 |0.044 = 0.004 |0.043 =+ 0.003 |0.044 = 0.002
FE#R i 0.031 = 0003 |0.036 = 0003 |0.036 = 0003 |0.038 =+ 0.003
| maL ' 0,031 = 0,004 |0,039 X 0004 |0.037 = 0003 [0,038 = 0 002
Body weight e 196 =+ 1.88 22.8 = 1.36 235 =+ 1.54 243 =+ 2. 50
|[Relative organ weight
FHEEAR g (00170 = 0015 |0.190 = 0.010 (0. 188 = 0.009 |0.183 = 0.020
KEEEL X 0.176 =+ 0.022 |0.192 = 0011 |0.185 = 0.002 |0.182 = 0.017
BEER % 0.158 =+ 0.020 |0.158 = 0.014 [0. 154 == 0.006 |0.156 = 0.016
ERL g2 0160 £ 0.011 0171 £ 0013 |0.157 == 0.005 [0.158 =+ 0.015
Absolute organ weight
FEEAR £ 0.033 £ 0003 |0.042 == 0001 |0.045 = 0.005 [0.046 = 0.003
FHEEL E 0,032 = 0003 |0.042 == 0003 (0.046 == 0.003 |0.046 == 0. 004
BER £ 0,033 = 0,004 |0.037 £ 0002 (0,036 =« 0.004 |0.039 =+ 0.003
AL £ 0,032 = 0005 |0,036 =+ 0005 (0,039 <+ 0002 |0.038 =+ 0 003
E Body weight P 17.7 =+ 0.84 210 =075 21.9 = 1.30 21.9 = 0.82
~ |Relative organ weight
AR £ 0,189 = 0.010 |0.199 = 0.006 |0.204 = 0.014 [0.211 =% 0.007
FhEEREL % 0.183 = 0.010 |0.2001 = 0.008 |0.210 = 0.008 [0.209 X 0.012
BE#R 5 0.184 = 0.017 |0.175 = 0.011 |0. 164 = 0.010 [0.178 = 0.007
EREL i 0.180 == 0.026 |0.173 = 0.8 |0.178 = 0.013 (0,176 = 0.008

Values are mean=5.D.
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BHEEET/ CREEH) B

C57BL/6NCrSIic
BALB/cCrSlc
BEE Slc: ICR
Slec:ICR
Weeks after operation
4 g 2 16
| tem Unit (n=5) {n=5) (n=5) {n=5)
Absolute organ weight
FHEAR S 0059 =+ 0002 |0.069 <+ 0006 [0 068 = 0007 |0.073 = 0 002
HhEEL E 0,059 == 0,003 (0,071 = 0006 |0.067 =+ 0.006 |0.072 =< 0. 003
FE#/R ) 0.049 = 0.003 |0.0656 = 0.004 |0.053 = 0.005 |0.058 = 0.002
| maL £ 0,049 =+ 0,004 |0.059 =+ 0,003 |0.053 =+ 0.004 |0.057 = 0. 001
é Body weight E 33.7 = 1.82 39.1 = 457 421 = 4.80 48 .2 = 6,32
= Relative organ weight
HEERR g% 0174 = 0.00% (0179 = 0.016 |0.163 = 0.027 |0.1564 = 0.017
ohE L EY 0174 == 0006 |0.183 = 0010 (0 1617 = 0.030 |0 151 = 0.020
FEER g% 0145 = 0.004 |0.143 = 0.011 |0.128 =£ 0.025 |0.122 = 0.7
RERL B% 0 145 == 0,007 |0.152 = 0.012 |0 128 =+ 0.020 |0.119 = 0.015
Absolute organ weight
KEARR £ 0058 = 0,008 [0.075 = 0005 |0.080 = 0003 |0.079 = 0.006
R L E 0.061 == 0.006 (0075 = 0.006 |0.080 == 0.004 |0.079 = 0.007
EEBR E 0050 =+« 0,003 |0.060 =+ 0.006 (0 060 == 0 004 |0 060 = 0.003
FE#L E 0.050 == 0.004 (0.058 = 0.006 |0.061 = 0.004 |0 061 = 0.004
E Body weight E 33.6 == 2. 94 40.0 =+ 5 69 44.9 =+ 5 90 46.0 = 5 &7
Relative organ weight
FEH AR E 0173 = 0,020 10,190 = 0025 (0181 =+ 0.028 (0172 = D014
KEEHEL 'l 0,184 = 0.017 [0.190 = 0.022 |0.181 = 0.033 |0.173 = 0.01
E#R £ 0151 = 0010 (0150 = 0.019 |0.137 = 0.022 |0.131 = 0.01
EEEL E 0151 =000 |0.146 = 0013 (0139 = 0.024 (0. 133 = 0.011
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EHRE CRERBE) ETIILEY

C57BL/6NCrSlc
BALB/cCrSlc
C57BL/6NCrS|c
Weeks after operation
4 8 12 16
Item Unit {(n=5) (n=5) {n=5) {n=5)
B KRR mfer’ | 27.96 = 1.87 30.62 £ 0.95 3.3 =070 J6.66 £ 2 43
Hl KRaAL ng/en| 28.14 = 1.28 | 30.80 + 0.92 | 31.38 =+ 1.45 37.78 £ 1.43
ﬁ FE&R mefem’ | 2408 =+ 1.18 2528 =+ 1.18 26.04 = 0.55 29 .52 = 0.
& FEHL mg/on’ | 23.56 = 1.32 25726 + 1.39 26006 =+ 1.19 28.60 = 1.51
HERER mefem’ | 28.92 = 1.64 30.82 =+ 1.64 MH2w = 0.8 37.52 = 1.00
AL rg/om’ | 28.56 £+ 1.95 32.52 =+ 1.12 34.40 =+ 0.69 37.46 + 1.91
PERR e/ 24.36 + 1018 | 2620 £ 075 | 2834 * 096 | 2946 = 1.3]
AL w/o| 2402 + 096 | 258 + 091 | 27.62 + 1.53 | 29.66 =+ 0.99
Values are meanz5. D.
BALB/cCrSlc
Weeks after operation
4 8 12 16
| tem Unit (n=5) (n=5) {n=5) (n=5)
FEERR sgfon| 30.86 =+ 2.04 35.50 =+ 1.61 3h58 = 2.2 32,30 = 1.02
HKEEL mgiem’| 30,74 £ 1.51 .78 £ 21 3624 =+ 1,68 32.38 <+ 1,06
( BEaR ng/em’| 25,66 =+ 1.25 28.00 =+ 1.24 2812 =139 25 86 = 035
AL mgiem | 25 68 == 1.43 2204 = 1.0 27.92 =+ 1.33 25,8 = 1.3
K EEER mgiem’| 31.48 =+ 1.74 36.54 =+ 1.23 aviw =30 /1 = 117
I FEE L mgfemt | 30.80 =+ 1.02 6.7 £ 170 N = 269 M = 1.07
FEER mgfemt | 26.00 =% 1.54 27.14 = 0.64 2000 = 2 47 28.68 = 1.05
AL mgiem’ | 26.22 =+ 1. 88 28.56 =+ 0 62 30,00 =+ 1.12 2920 = 1.10
alues are mean=5 D,
Slc:ICR
Weeks after operation
4 8 7 76
| tem Unit n=5) (n=5) (n=5) (n=5)
KEEER ngen’| 38.78 + 1.76 | 4206 + 248 | 42.76 + 1.16 4408 + 0 68
H FEEEL mg/om’| 3B.46 4+ 1.98 43204 =+ 212 42 44 = 0. 84 44.54 = 1.4
o EER mgiem® | 31.88 &£ 1.23 32,98 = 1.65 2.7 x0T 34.02 == 0.53
& AEEL mgien’ | 30,98 + 1,23 33.34 =+ 1.59 3326 = 1,13 34.28 =+ 1.09
1 FEEER mgiem’| 41.40 4+ 2.13 46. 16 = 2 58 48 72 = 2.17 49. 50 =+ 2.53
FhEAL mgfem’ | 4210 &£ 1,49 45. 76 = 2.56 48.92 = 1.84 4906 = 2.20
! EHR mgiom | 3314 £ 0.99 36.54 = 1.70 36,76 = 218 36,20 = 1.58
<l EEL me/en’| 33.34 + 1.30 36.20 + 1.89 36.84 + 1.72 36.82 =+ 1.15
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